6\60/0 (OV‘S"\A@ ne (! ““’\L"MUQ\, 7[Dr H_(),

brpos B‘Q‘“Q@"Mg fo mev

_/L#
% (X
T S
weveed W= (0 ed B codiden
V=710
X =T K8
5 = 555571/
| q7. 4€%7
a7 gk x (L. [‘ss\%&g)m _
0 Af . L 300%

C(Shtlu C'C,W.Hda% Lcr' '&im‘f& |
A% 4>

a§.¥Y



Identify the test (circle one):

1. Significance test for one proportion (1-PropZTest)

2. Significance test for the difference of two proportions (2-PropZTest)
Significance test for a mean (T-Test)

4. Significance test for the difference of two means (2-SampTTest)

0 S Check the conditions:
Data: Significance level o = _¢ §
a 1gM1 ce [} ulil TU\G SG\WP\@ wWGS OLJ{G"W\U; q\\
Other: (depending on the test, circle and give the necessary values)
_ ~ 1050 (000,
= B . By IMEL

7= 50 3. A\On (G40 ¢ botal nandots

~ 1015 - 2 he semje see n=G4
k‘[’_) T 1 1 Ve bic] E'\Ou\fjv\ L({)me’w ‘(W’\A@
\ﬁL P2 = Ty =

m=______ m= (8% ;
S'H‘lﬂ’ﬂﬁ C('\ H‘\JJ
ng=__ _____ Ex=_____ 0 s1=__ ?b(H (mt.(rf i IQQHY
€T = 83 =

o

State the hypotheses:

Hy : _/V\ = /U\()
i /U\ Z MO
where (circle and describe in words the appropriate symbol(s): p,p1, paf 4 ey, 12)

N\ = e vorn wamber of Ve \3‘\1/30;\*6 &‘\“L«AU{ e very weed

Compute the test statistic, p-value, and Jabel and complete the sketch:

formula
P-value = ’QZ) 3 'g O\ (D

Is the sample significant? z 2

Yes/No

Test statistic:

Conclusions:
(Circle one) We don’t reject the null hypothesis.
Explain in context,

Beconse. e P-Ualug = .03 330L6 <€ 09 . e re&ec\ e vl ‘LT[JU\LM

eex W\l WS 1015 wantos IWJ.W 5 v\)ow\d be mnl}[{&[{ (/P‘Gb%bl\? LY
’5,539’0\ \’U _fjﬁl\ * .5““&-\0\9 O‘P C’AV (endam. -S‘\’LAEUC]S with & wa)g,r

‘n leyor & o aldemale . Tf 4t ~oenvumbor gl bones o stug ime

W o \'l’“"\ LOE)O So W@ U(/\J»IQ eviden o oy suk s twu:{eg&
Y\e ATy 0 5%1 Ve par weel s ergor thon (OLT,



Identify the test (circle one):
1. Significance test for one proportion (1-PropZTest)
2. Significance test for the difference of two proportions (2-PropZTest)
3. Bignificance test for a mean (T-Test)
~Significance test for the difference of two means (2-SampTTest)

O 5‘ Check the conditions:

er: (depending on the test, circie an give tne necessary values _\( r _k\ e (/Md W

w=________  p= %:; U\?..U[zg(o
o i ’ b 2. Twe ébv!‘h bUkS MML
Qﬂ/hﬂ:l—— = ¥ &1 sxeihvked €xCepy (s mdv\*_\iu

A2 — o e onkl
- . S - O
U 0 =150 < Yol adwbe g

Mg o .. BRSNS MWGM&J& {-‘Uf"\_w%’\- «LJ 8
o sy = (‘w@ wh \1;[7 ij)

Data: Significance level o = _9

&

=]l

9 =

Well do t Yook witke and W thadd

37

i

b Gony

State the hypotheses:
s M= Mo
H: MEM

where (circle and describe in words the appropriate symbol(s): b, p1,P2, i, Ky s o)

= e 0Ty Q Jutene %“C‘m e ew’(\:dm T sum,

Compute the test statistic, p-value, and label and complete the sketch:

S _ A

X Mo _ -1.40%806
A = —6.132
0L A %mm]( L0000 ggj Lw‘i Lok ke Ol k}

Test statistic: {j

P-value = %

Is the sample significant? \/f , S

Yes/No

Conclusions:
(Circle one) Wé¢ rejectjdon’t reject the null hypothesis.
Explain in context:

(ecmse PAAe =. 01644 <,05 v m;-e,& He vl L”T potles 1,

Joc ok Yle alkernate, \ |
%(/E(‘J{i{»e e o0 drskeoncee koo \e ek de flo gun WS 15 williva mJL&s},

e n \\/-h)Um‘Lc\ Le ur\\\lLE,\Y p(d\a_;,‘.,Uki ’(.(9‘1“{() Yo %dr o Sample Q][‘

G wgn ovenks 1y exXie m@ OF ware lnen Yo gne we wmlyzel,
TutlOreoio | 1E Wl ewig Peoutloe oF 43 1K o Yl or M[}H —
00U g, So we vl ample aldence {0 gt Yot e AQ
s adk equal Yo 4D walliow walog |



Identify the test (circle one):

1. Significance test for one proportion (1-PropZTest)

2. Significance test for the difference of two proportions (2-PropZTest)
£ ignificance test for a mean (T-Test)

4. Significance test for the difference of two means (2-SampTTest)

L .0 5 Check the conditions:

Data: Significance level o = 1-X\‘\l? S,Cﬂw'p\@f @ VI.O\ a4 € O'V'l,d.(;ﬁ\
Other: {depending on the test, circle and gnre the zaiesiry values) ch*“‘ﬁl,{,’ .’ \!'VQ\[\ O C{ bvd' LDG

. = x Ny Wy gt ow resuld g
(3 AL 5= 7= The sample see nzhg s
U———A‘O pr= Ty = s |

me—____ m= (3296 % 4On= A00 Lokl awmber

ng=___ Iz= 5 = U% QNerg of 1007 HQV\AC\ Clvi |

EYL—: ad

State the hypotheses:

Hu ] M = /{/\0

Ha v /‘A, 7M0

where (circle and describe in words the appropriate symbol(s): p,pi1, pg@ 1y Ha)

= ‘e oot ™Y for 10p7 Hoada Gyt Hybad Corg,
M had J(\:;Qltr ON?d\é‘,rj would e poct: ¢

Compute the test statistic, p-value, and label and complete the sketch:

% Mo _ Lt
b= S/H{w I

formula

Test statistic:

P-value =_1 06,(0 t

Is the sample significant? _._&_0._
Yes/No

Conclusions: et g

(Circle one) We re_]ec( donj;_ﬂe@m null hypothesis.

Explain in context.

Becowse f-Nale =.05C( > 05 we JM‘rre e Yo wdl poflesis,
1L Ve oueiege ™pg e @wWes wald e Ls l’;z,w“o_(j J(Lo\z e 4
\;\o@l% Y0 gt csemple o &Q guwverg wi \\ =h3 9 od = S.OLE gr

WOGQ 0 Came (’ P ok iy ob twag %y g oL%, \

S0 e War no et Yy ass ot %lnajt the odmal mpq Ye gwnorg
\,\Jw\k}s ‘@Qof‘l S \er gor {hon 4'2
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